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QUESTION 1

Consider the following diagram with four relationships modeled:

Application component
Data-object i P
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Artifact ﬁmstructure ) Communication €2
interface path i

Which relationship modeled in the diagram is not allowed to connect the application layer with the technology layer?
A. Relationship 1
B. Relationship 2
C. Relationship 3
D. Relationship 4

Correct Answer: D

QUESTION 2

Consider the following diagram:

Underwriting Application

N A

uoting Rating

A

Product
Configuration

What does the diagram express about the Underwriting Application?

A. It has three distinct components
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B. It processes three different types of data objects
C. It performs three different functions
D. It groups together three components that are not a part of the Underwriting Application

Correct Answer: C

QUESTION 3

At ArchiSurance, the Take in Claim process creates a Claim business object, while the remaining processes in the
sequence below refer to and update the Claim business object.

= =

Gather Claim e .
Infcumahon 0 Adjudicate Claim

A

Claim

Take in Claim

Which structural relationship could replace the association relationships in the diagram to more precisely describe how
ArchiSurance Claim processes interact with the Claim business object?

A. Used By

B. Flow

C. Assignment
D. Access

Correct Answer: D

QUESTION 4

According to the ISO/IEC 40210 standard, which of the following statements is NOT correct?
A. A view conforms to a viewpoint

B. A viewpoint always addresses one or more stakeholders

C. A concern is always important to one or more stakeholders

D. A viewpoint always covers exactly one concern
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Correct Answer: D

QUESTION 5

Consider the following diagram:

&
& Q r"_é’d)
Application ¥ Network

Monitoring Monitoring
60
= \_

A

Which of the following best describes what this diagram represents?

A. A node with two system software environments. One performs Application Monitoring, the other Network Monitoring
B. A node that performs two functions: Application Monitoring and Network Monitoring

C. A node that processes two types of data, pertaining respectively to Application Monitoring and Network Monitoring

D. A node with application components. One performs Application Monitoring, the other Network Monitoring

Correct Answer: B

Latest OG0-021 Dumps OGO0-021 PDF Dumps 0G0-021 Exam Questions

Latest OG0-021 Dumps | OG0-021 PDF Dumps | OG0-021 Exam Questions 41/5


https://www.geekcert.com/OG0-021.html
https://www.geekcert.com/OG0-021.html
https://www.geekcert.com/OG0-021.html
https://www.geekcert.com/OG0-021.html
https://www.geekcert.com/OG0-021.html
https://www.geekcert.com/OG0-021.html

VCE & PDF https://lwww.geekcert.com/OG0-021.html
2021 Latest geekcert OG0-021 PDF and VCE dumps Download

GeekCert.com

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success

100% Money Back Guarantee

365 Days Free Update

Instant Download After Purchase

24x7 Customer Support

Average 99.9% Success Rate

More than 800,000 Satisfied Customers Worldwide

Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.geekcert.com/allproducts

Need Help

Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Submit A Ticket

One Year Free Update Money Back Guarantee Security & Privacy

Free update is available within One To ensure that you are spending on We respect customer privacy. We
Year after your purchase. After One quality products, we provide 100% use McAfee's security service to
Year, you will get 50% discounts for money back guarantee for 30 days provide you with utmost security for

updating. And we are proud to from the date of purchase. your personal information & peace
boast a 24/7 efficient Customer of mind.

Support system via Email.

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.
Copyright © geekcert, All Rights Reserved.

Latest OG0-021 Dumps | OG0-021 PDF Dumps | OG0-021 Exam Questions 5/5


https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.geekcert.com/OG0-021.html
https://www.geekcert.com/OG0-021.html
https://www.geekcert.com/OG0-021.html

